

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a)$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\lim_{x \rightarrow a} f(x)$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\lim_{x \rightarrow a} f(x) = \lim_{x \rightarrow a} \{f(x)\}$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\lim_{x \rightarrow a} f(x) = \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\}$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\begin{aligned} \lim_{x \rightarrow a} f(x) &= \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\} \\ &= \lim_{x \rightarrow a} \left\{ \frac{f(x) - f(a)}{x - a} \right\} \end{aligned}$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\begin{aligned} \lim_{x \rightarrow a} f(x) &= \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\} \\ &= \lim_{x \rightarrow a} \left\{ \frac{f(x) - f(a)}{x - a} \times (x - a) \right\} \end{aligned}$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\begin{aligned} \lim_{x \rightarrow a} f(x) &= \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\} \\ &= \lim_{x \rightarrow a} \left\{ \frac{f(x) - f(a)}{x - a} \times (x - a) + f(a) \right\} \end{aligned}$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\begin{aligned} \lim_{x \rightarrow a} f(x) &= \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\} \\ &= \lim_{x \rightarrow a} \left\{ \frac{f(x) - f(a)}{x - a} \times (x - a) + f(a) \right\} \\ &= \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} \end{aligned}$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\begin{aligned} \lim_{x \rightarrow a} f(x) &= \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\} \\ &= \lim_{x \rightarrow a} \left\{ \frac{f(x) - f(a)}{x - a} \times (x - a) + f(a) \right\} \\ &= \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} \times \lim_{x \rightarrow a} (x - a) \end{aligned}$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\begin{aligned} \lim_{x \rightarrow a} f(x) &= \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\} \\ &= \lim_{x \rightarrow a} \left\{ \frac{f(x) - f(a)}{x - a} \times (x - a) + f(a) \right\} \\ &= \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} \times \lim_{x \rightarrow a} (x - a) + f(a) \end{aligned}$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\begin{aligned} \lim_{x \rightarrow a} f(x) &= \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\} \\ &= \lim_{x \rightarrow a} \left\{ \frac{f(x) - f(a)}{x - a} \times (x - a) + f(a) \right\} \\ &= \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} \times \lim_{x \rightarrow a} (x - a) + f(a) = f(a) \end{aligned}$$

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\begin{aligned} \lim_{x \rightarrow a} f(x) &= \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\} \\ &= \lim_{x \rightarrow a} \left\{ \frac{f(x) - f(a)}{x - a} \times (x - a) + f(a) \right\} \\ &= \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} \times \lim_{x \rightarrow a} (x - a) + f(a) = f(a) \end{aligned}$$

(\Leftarrow)



$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\begin{aligned} \lim_{x \rightarrow a} f(x) &= \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\} \\ &= \lim_{x \rightarrow a} \left\{ \frac{f(x) - f(a)}{x - a} \times (x - a) + f(a) \right\} \\ &= \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} \times \lim_{x \rightarrow a} (x - a) + f(a) = f(a) \end{aligned}$$

(\Leftarrow)

$$f(x) = |x|$$



$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\begin{aligned} \lim_{x \rightarrow a} f(x) &= \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\} \\ &= \lim_{x \rightarrow a} \left\{ \frac{f(x) - f(a)}{x - a} \times (x - a) + f(a) \right\} \\ &= \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} \times \lim_{x \rightarrow a} (x - a) + f(a) = f(a) \end{aligned}$$

(\Leftarrow)

$$f(x) = |x| \text{ at } x = 0$$



$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Start

Theorem

$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

Proof.

(\Rightarrow)

$$\begin{aligned} \lim_{x \rightarrow a} f(x) &= \lim_{x \rightarrow a} \{f(x) - f(a) + f(a)\} \\ &= \lim_{x \rightarrow a} \left\{ \frac{f(x) - f(a)}{x - a} \times (x - a) + f(a) \right\} \\ &= \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} \times \lim_{x \rightarrow a} (x - a) + f(a) = f(a) \end{aligned}$$

(\nLeftarrow)

$$f(x) = |x| \text{ at } x = 0$$



$$\exists f'(a) \Rightarrow \lim_{x \rightarrow a} f(x) = f(a)$$

▶ Home